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CHAPTER

Time to analyse

1  Reading skills
A. Read the text in the previous section and decide whether the statements below 
are true or false. Justify your answers.
1. False. Needs are things necessary to survive (food, water, shelter, etc.), wants are things 
we desire.
2. True.
3. False. Capital includes all man-made resources.
4. False. The primary sector is concerned with exploiting natural resources. Industry is in 
the secondary sector.
5. False. The tertiary sector of industry is services. Charities are in the third sector of the 
economy.
6. True.
7. True.
8. False. Keeping staff means innovation remains in the company and no productivity is lost 
with staff turnover.
9. True.
10. False. Local communities want the organisation to employ local people and for the 
activity to be beneficial to the community.

B. Read the text in the previous section again and answer the following questions.
1. To sell goods and provide services to satisfy the needs and wants of customers.
2. They need management (enterprise) to employ a workforce (labour) to use machinery 
(capital) to exploit natural resources (land).
3. They exist in primary, secondary and tertiary industry sectors and in private, public and 
third sectors of the economy.
4. They can have one or more of the following objectives: they must survive, make a profit, 
provide a service, be socially responsible, satisfy customers, increase market share, retain 
employees and create more businesses.
5. Internal and external stakeholders. Internal stakeholders are owners, investors, 
managers  and employees. External stakeholders are suppliers, customers, clients, banks, 
authorities and local communities.

1 The role 
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Part 1  Organisations

2  Vocabulary
Complete the text below with vocabulary in bold from the chapter. The first letter 
of each word is given.
Organisations can be privately-owned profit-making businesses, offer public services or be 
non-governmental organisations. Businesses use different factors of production to create 
finished goods, often from extracting raw materials and natural resources. Survival and 
profit are the main objectives of private sector companies, but other objectives include 
provision of a service and social responsibility. All organisations have internal and external 
stakeholders.

Over to you

1  Express yourself
A.  In French

À partir des éléments du chapitre, rédigez une synthèse en français sur les rôles de 
l’entreprise dans la société (250 mots, +/− 10 %). Indiquez le nombre de mots.
Exemple de production :
Une organisation produit des biens ou fournit des services afin de satisfaire les besoins 
ou désirs des clients ou utilisateurs. Les organisations opèrent dans l’un des trois secteurs 
de l’industrie, le secteur primaire (qui comporte la production des matières premières et 
l’exploitation des ressources naturelles), le secteur secondaire (qui s’intéresse à la fabrication 
d’un produit) ou le secteur tertiaire (qui consiste à fournir des services). Une organisation 
n’a donc pas forcément de dimension marchande, par exemple les institutions nationales 
ou locales. Il existe plusieurs catégories d’organisations, selon qu’elles soient publiques 
ou privées. Les  organisations  publiques sont soit étatiques soit régionales et fournissent un 
service. Les organisations privées sont sans ou avec but lucratif. Sans, elles sont dénommées 
« non gouvernementales à but non lucratif » (communément appelées ONG). Avec, il s’agit 
de la forme la plus classique  : les entreprises. Ces dernières vendent des prestations, des 
produits, des services et entendent dégager des bénéfices, qui sont ensuite répartis entre les 
besoins propres de l’entreprise, ses investissements, et les actionnaires qui ont investi dans le 
capital. Les organisations comportent des parties prenantes internes et externes. Certaines 
sont communes à toutes les formes (le personnel), et certaines sont propres à une forme 
donnée d’organisation (les actionnaires, qui ne concernent que la forme d’entreprise privée). 
Une organisation peut avoir plusieurs raisons d’être : dégager des bénéfices, fournir un service 
ou jouer un rôle environnemental ou social.
(239 mots)


